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QUESTION 1

You work as a Software Developer for ABC Inc. You create an application, and you want to define a component for your
application. In some deployments, the component will be deployed on the same computer as the application. In other
deployments the component will be deployed on a separate computer. You create a Web service. You want a new

object of the Web service to be created whenever a customer makes a call to the Web service. Drag and drop the
appropriate statement to accomplish the task.

Comect AnEwar = Your Angwer

Craate Ubls as a Singlaton obpact
Creata Liks a5 a SingleCall ohjet
Craats Ltds as 3 Marshad By Value objet

Create Unls ax 3 Marshal By Raferance abjadt

A

Correct Answer: A

QUESTION 2
George works as a Software Developer for GenTech Inc. He creates an application named Appl using Visual Studio
.NET. Appl uses the version 2.0.0.0 of an assembly named Assemblyl. However, he wants Appl to use a new version

i.e.

2.1.0.0 of Assemblyl. Therefore, he needs to specify Assembly1\\'s location so that Appl can use version 2.1.0.0 of
Assemblyl. What will George use to accomplish the task?

Each correct answer represents a complete solution. Choose all that apply.
A. An unmanaged code.

B. A managed code.

C. The element.

D. The element.

Correct Answer: CD

QUESTION 3

Allen works as a Software Developer for ABC Inc. The company uses Visual Studio.NET 2008 as its application
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development platform. Allen develops an application using .NET Framework 3.5. The application connects to a SQL
Server database using a SglConnection object named Connectionl. He creates some stored procedures in the
database, which are used to update the data. Allen finds that sometimes, the update operation does not affect any row.
He wants to add an error handling code to the application. Which of the following code segments will he use to
accomplish the task?

A. try { Connectionl.open(); } catch(DataException Myexcept) { /Error-handling code }

B. try { Connectionl.open(); } catch(SqlException Myexcept) { //Error-handling code }

C. try { Connectionl.open(); } catch(DBConcurrencyException Myexcept) { /Error-handling code }

D. try { Connectionl.open(); } catch(InvalidCastException Myexcept) { //Error-handling code }

Correct Answer: C

QUESTION 4

Which of the following code snippets is an example of tight encapsulation?
A. private int x; public void fun(){x=5;}

B. private int x; private void fun(){x=5;}

C. public int x; public void fun() {x=5;}

D. protected int x; protected void fun(){x=5;}

E. int x; public void fun(){x=5;}

Correct Answer: A

QUESTION 5

You work as a Software Developer for InfoTech Inc. You create a Windows form in a Windows- based application
named MyWinAppl. You use graphics in the form. You write the following code in your form: private void
MyMouseEvent1(object senderl, MouseEventArgs event) { // Code to handle mouse events } You want to implement a
property of the MouseEventArgs object. This property will return a Point structure that contains the x-coordinate and y-
coordinate of the mouse. Which of the following properties of the MouseEventArgs object will you

use to accomplish this?

AY

B. Delta

C. Location

D. Button

E. Clicks

F. X
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Correct Answer: C
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